
Picture 1 – Use y axis from –10 to 10 and x axis from –13 to 13



Complete each section on the same grid.

A:
(-12, -2), (-10, -2), (-10, -1), (-12, -1), (-12, 4), (-8, 4), (-8, 2), (-10, 2), 


(-10, 1), (-8, 1), (-8, -4), (-12, -4), (-12, -2)

B:
(-7, -4), (-7, 4), (-3, 4), (-3, 0), (-5, 0), (-5, 4), (-7, -4)

C:
(-5, 1), (-5, 3), (-4, 3), (-4, 1), (-5, 1)

D:
(-2, -4), (-2, 4), (2, 4), (2, 2), (0, 2), (0, 1), (1,1), (-1, -1), (0, -1), (0, -2),


(2, -2), (2, -4), (-2, -4)

E:
(3, –4), (3, 4), (7, 4), (7, 2), (5, 2), (5, 1), (6, 1), (6, -1), (5, -1), (5,-2), (7, -2)


(7, -4), (3, -4)

F:
(8, -4), (8, 4), (11,4), (13, 2), (13, -2), (11, -4), (8, -4)

G:
(10, -1), (10, 1), (11, 0), (10, -1)

What have you plotted?

Picture 2 – Use y axis from –4 to 4 and x axis from –6 to 6



Complete each section on the same grid.

A:
(-6, 3), (-4, 3), (-3, 2), (-3, 1), (-4, 0), (-3, -1), (-3, -2), (-4, -3), (-6, -3), (-6, 3)

B:
(-5, 2), (-4,2), (-4, 1), (-5, 1), (-5, 2)

C:
(-5, -1), (-4, -1), (-4, -2), (-5, -2), (-5, -1)

D:
(-2, 3), (0, 3), (1, 2),(1, 1), (0, 0), (1, -1), (1, -3), (0, -3), (0, -2), (-1, -1), (-1,-3),


(-2, -3), (-2, 3)

E:
(-1, 2), (0, 2), (0, 1), (-1, 1), (-1, 2)

F:
(2, 3), (3, 3), (3, -3), (2, -3), (2, 3)

G:
(4, 3), (5, 3), (5, -1), (4, -1), (4, 3)

H:
(4, -2), (5, -2), (5, -3), (4, -3), (4, -2)

What have you plotted?
Picture 3 – Use y axis from –4 to 4 and x axis from –6 to 6



Complete each section on the same grid.

A:
(-3, 0), (-3, -4), (-1, -4), (-1, -2), (2, -2), (2, -4), (4, -4), (4, 1), (5, 0), (5, 1), 


(3, 3), (-4, 3), (-5, 2), (-5, -1)

B:
(-1,3), (-1,1), (-2, 0), (-3, 0), (-4, 1), (-4, 3)

C:
(-4, 0), (-5, -1), (-6, 0), (-5, -2), (-3, 0)

D:
(-5, -2), (-5, -3), (-4, -3), (-4, -1)

E:
Put a dot at (-4.5, 1.5)

What have you plotted?
Picture 4 – Use y axis from –4 to 4 and x axis from –6 to 6



Complete each section on the same grid.

A:
(-2, 3), (-3, 2), (-5, 1), (-4, -1), (-3, 0), (-2, -1), (-2, -3), (-2.5, -3), (-2.5, -3.5), 


(-1.5, -3.5), (-1, -1.5), (2, -1.5), (3, -2.5), (2.5, -3), (2, -3), (2, -3.5), (3, -3.5), 


(4, -2.5), (3, 0), (4, 2), (2, 1), (-1, 1), (-2, 2), (-2, 3)

B:
Draw a dot at (-3, 1.5)

What have you plotted?
